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Question Number : 1 Question Id : 26723611181 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



What happens if the field winding of the synchronous motor is short-circuited?
(A) First starts as an induction motor then run as a synchronous motor
(B) Run as an induction motor
(C) Will not start

(D) The motor will burn out
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 1 Question Id : 26723611181 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B

3.% C



4. % D

Question Number : 2 Question Id : 26723611182 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A 10 pole, 25 Hz alternator is directly coupled to, and is driven by 50 Hz synchronous

motor then the number of poles in a synchronous motor are

(A) 25

(B) 30

(€) 20

(D) 10
Options:
1.¥A
2. % B
3. % C

4. % D

Question Number : 2 Question Id : 26723611182 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3.% C

4. # D

Question Number : 3 Question Id : 26723611183 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Induction motor always runs with lagging power factor whereas a synchronous motor

(A) always runs with unity power factor
(B) always runs with lagging power factor
(C) always runs with leading power factor

(D) runs with either leading or lagging power factor
Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 3 Question Id : 26723611183 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3.% C

4. %D

Question Number : 4 Question Id : 26723611184 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In a synchronous motor, “hunting” may be due to the variation in any of the following

except

(A) Winding friction

(B) frequency

(C) Load

(D) Supplied voltage
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 4 Question Id : 26723611184 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.4 A

2. % B

3.% C



4. % D

Question Number : 5 Question Id : 26723611185 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A centrifugal pump needs 1000 W of power when operating at 1500 rpm. What is the

power requirement if the speed of the pump is increased to 3000 rpm?

(A) 2000W

(B) 4000W

(C) 6500W

(D) 8000w
Options:
1.¥ A

2. % B
3.%C

4. % D

Question Number : 5 Question Id : 26723611185 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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(P) 2000 W

(9) 4000 W

(1) 6500 W

(H) 8000 W
Options :

1.YA

2. % B

3.% C

4. % D

Question Number : 6 Question Id : 26723611186 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

In a D.C. 3-wire distributor using balancers and having unequal loads on the two sides
less

(A) Balancer connected to lightly- loaded side runs as a generator

(B) Balancer connected to heavily- loaded side runs as a generator

(C) Both balancers run as motors

(D) Both balancers run as generators
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 6 Question Id : 26723611186 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.¥ A

2. % B

3. % C

4. % D

Question Number : 7 Question Id : 26723611187 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The operating voltage of super tension cable is

(A) 1-11kV
(B) 11-33kV
(C) 33-66kV

(D) Above 66 kV
Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 7 Question Id : 26723611187 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3.% C

4. % D



Question Number : 8 Question Id : 26723611188 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The distributors for residential areas are

(A) Three-phase four-wire
(B) Three-phase three-wire
(C) Single-phase

(D) None of the above
Options :

1.¢A

2. % B

3.% C

4. %D

Question Number : 8 Question Id : 26723611188 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.9 A



2. % B
3.% C

4. % D

Question Number : 9 Question Id : 26723611189 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In the active region of operation of a P-N-P transistor, the base current is due

(A) Holes injected into the emitter from base

(B) Only saturation current due to reverse bias of collector junction

(C) Electrons recombining with a part of the holes diffusing in the base region

(D) Holes entering the base from the terminal for recombination
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 9 Question Id : 26723611189 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2.%B

3. % C

4. % D

Question Number : 10 Question Id : 26723611190 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Silicon diodes are preferred to germanium diodes for high temperature operation

because

(A) Rate of increase of reverse saturation current with temperature is more in case

of silicon
(B) Doping of silicon 1s a simple process

(C) The reverse saturation current of silicon diodes is smaller than that of

germanium

(D) None of the above
Options :



1.9 A

3.%C

4. % D

Question Number : 10 Question Id : 26723611190 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.9 A
2. % B
3. % C

4. % D

Question Number : 11 Question Id : 26723611191 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In a forward biased P-N junction, the diffusion capacitance varies as
(A) Inversely with the current
(B) As the square of the current
(C) Linearly with the current

(D) As the square root of the current
Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 11 Question Id : 26723611191 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.YA
2. % B
3. % C

4. % D



Question Number : 12 Question Id : 26723611192 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A Zener diode is operated in the following mode as a voltage stabilizer

(A) Reverse bias
(B) Forward bias
(C) Beyond the breakdown region

(D) Reverse bias around the knee of breakdown region
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 12 Question Id : 26723611192 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A



3.%C

4. % D

Question Number : 13 Question Id : 26723611193 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In a simple knife edge follower and cam mechanism, number of higher pair. Number

of lower pair and degree of freedom are respectively:

(A) 2,2and2

(B) 1,2and2

(C) 1,3and1

(D) 1,2and1
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 13 Question Id : 26723611193 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 14 Question Id : 26723611194 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Slenderness ratio of the column is expressed as:

(A) effective length/least radius of gyration

(B) effective length/maximum radius of gyration

(C) least radius of gyration/ effective length

(D) maximum radius of gyration/ effective length
Options :

1.¥v A

2. % B

3.% C



4. % D

Question Number : 14 Question Id : 26723611194 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 15 Question Id : 26723611195 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In a flat pivot, if R is its radius and it is subjected to an axial load W, frictional force

acts at radius:
(A) 2/3R for uniform rate of wear
(B) 2/3R for uniform pressure
(C) R/2for uniform pressure

(D) R/2 for uniform rate of wear
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 15 Question Id : 26723611195 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B



3.% C

4. % D

Question Number : 16 Question Id : 26723611196 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The ratio of circular pitch and module is:

(A) 7

(By 1«

(C) 1

(D) 27
Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 16 Question Id : 26723611196 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.4 A

2.%B

3.% C

4, % D

Question Number : 17 Question Id : 26723611197 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



If BC in a single slider crank chain is acting as connecting rod in given figure below,

then number of kinematic link and degree of freedom are respectively:

(A) 4and2

(B) 6and1

(C) 8and1

(D) 10and1
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 17 Question Id : 26723611197 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 18 Question Id : 26723611198 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A ball is dropped from a height of 16m on a smooth horizontal plane, from which it
rebounds to a height of 4m. The coefficient of restitution:

(A) 0.16
(B) 0.2
(C) 04

(D) 0.5
Options :
1.¥A

2. % B
3.% C

4. # D

Question Number : 18 Question Id : 26723611198 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A

2. % B

3.% C



4. % D

Question Number : 19 Question Id : 26723611199 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

A 10N force stretches 1mm to a spring. The work done for stretching 50mm will be
equal to:

(A) 12.5)
(B) 25)
(C) 250N

(D) 50/
Options :
1.9 A

2. % B
3.% C

4. % D

Question Number : 19 Question Id : 26723611199 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 20 Question Id : 26723611200 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Poisson’s Ratio is defined as:

(A) (Lateral strain) x (Axial strain)

(B) (Lateral strain) / (Axial strain)

(C) (Axial strain) / (Lateral strain)

(D) Stress / strain
Options :

1. A

2. % B

3.% C

4. %D

Question Number : 20 Question Id : 26723611200 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Ui IR 39 yeR ufeurg faar mar g:

(@) s 14) x (31efg d-1a)
@) CIEREICIWACRIRIGEIG)
(m (31&fta 1) / (e d= 1)
) ECEICHARIC]

Options :

1.9 A

2. % B

3. % C

4. % D

Question Number : 21 Question Id : 26723611201 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Hoop stress in a thin cylinder is expressed as:

(A) pd/t

(B) pd/(4t)

(C) pd/(2t)

(D) pd/(8t)
Options :
1.¥ A

2. % B

3.% C

4. % D



Question Number : 21 Question Id : 26723611201 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. A
2. % B
3.%C
4. % D

Question Number : 22 Question Id : 26723611202 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A beam is said to be of uniform strength, if:

(A) bending moment is same throughout the beam

(B) deflection is same throughout the beam

(C) bending stress is same throughout the beam

(D) all of the above
Options :



1.9 A

3.%C

4. % D

Question Number : 22 Question Id : 26723611202 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.9 A

2. % B

3. % C

4. % D

Question Number : 23 Question Id : 26723611203 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The carbon percentage of eutectoid steel is:

(A) 0.45%

(B) 1.4%

C) 1%

(D) 0.8%
Options :
1.¥ A

2. % B
3.% C

4. % D

Question Number : 23 Question Id : 26723611203 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3.% C

4. % D



Question Number : 24 Question Id : 26723611204 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The carbon present in steel is in the form of FesC known as cementite contain C:

(A) 0.83%
(B) 2%
(C) 4.3%

(D) 6.67%
Options :
1.9 A

2. % B
3.% C

4. %D

Question Number : 24 Question Id : 26723611204 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.9 A



3.%C

4. % D

Question Number : 25 Question Id : 26723611205 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In low alloy steels, the total content of the alloying elements is kept

(A) more than 50%

(B) between 50% to 20%

(C) between 10% to 20%

(D)  within 5%
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 25 Question Id : 26723611205 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 26 Question Id : 26723611206 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Heat and work are

(A) intensive property
(B) path function

(C) point function

(D) None of the above
Options:

1.¢¥ A

2. % B

3.% C



Question Number : 26 Question Id : 26723611206 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3.%¥C

4. % D

Question Number : 27 Question Id : 26723611207 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
With increase in pressure, for water

(A) enthalpy of dry saturated steam increases
(B) enthalpy of dry saturated steam decreases
(C) enthalpy of dry saturated steam remains same

(D) enthalpy of dry saturated steam first increases and then decreases

Options :



1.9 A

3.% C

4. % D

Question Number : 27 Question Id : 26723611207 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:
1.¥A
2.%B
3. % C
4.% D

Question Number : 28 Question Id : 26723611208 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



At critical point for water:
(A) p=221.2 bar, T=647.3°K, v=0.00317 m3/kg
(B) p=221.2 bar, T=650°K, v = 0.00312 m*/kg
(C) p=225.65 kgf/cm?, T=773°K, v = 0.00317 m?/kg

(D) p=225.65 kgf/fcm’, T=673°K, v=0.00317 m?/kg
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 28 Question Id : 26723611208 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Q) p =225.65 kgf/cm?, T=773°K, v=0.00317 m3/kg
) p =225.65 kgf/cm?, T=673°K, v=0.00317 m3/kg
Options :

1.¥ A

2. % B

3. % C

4. % D



Question Number : 29 Question Id : 26723611209 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In a Rankine cycle, regeneration results in higher efficiency because

(A) Pressure inside the boiler increases
(B) Heatis added before steam enters the low pressure turbine
(C) Average temperature of heat addition in the boiler increases

(D) Total work delivered by the turbine increases
Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 29 Question Id : 26723611209 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.¥ A



3. % C

4. % D

Question Number : 30 Question Id : 26723611210 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
-40°C is equal to

(A) -40°F

(B) 230°K

(C) 400°R

(D) 104°F
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 30 Question Id : 26723611210 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



40°CH R &

() -40°F
(d) 230°K
(1) 400°R
() 104°F
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 31 Question Id : 26723611211 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The reheat cycle in steam power plant is mainly adopted to

(A) Improve thermal efficiency

(B) Decrease the moisture content in low pressure stages to a safe value

(C) Decrease the capacity of condenser

(D) Recovers the waste heat of boiler
Options :

1.¥A

2. % B

3.% C

4. % D



Question Number : 31 Question Id : 26723611211 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. A
2. % B
3. % C
4. % D

Question Number : 32 Question Id : 26723611212 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Internal energy of ideal gas is function of

(A) Temperature and pressure

(B) Pressure and volume

(C) Pressure and Temperature

(D) Temperature alone
Options :

1.9 A



3.%C

4. % D

Question Number : 32 Question Id : 26723611212 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3. % C
4. % D

Question Number : 33 Question Id : 26723611213 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A heat engine is supplied with 300kJ/sec of heat at 600°K and rejects 100kJ/sec at
300°K. The data refers to

(A) Reversible cycle
(B) Irreversible cycle
(C) Impossible cycle

(D) None of the above
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 33 Question Id : 26723611213 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B



3.% C

4. %D

Question Number : 34 Question Id : 26723611214 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

The value of coefficient of performance of reverse Carnot refrigeration cycle is 5. The
ratio of higher temperature to lower temperature will be:

(A) 1.50

(B) 125

(C) 120

(D) 2.50
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 34 Question Id : 26723611214 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



fad @re YR 9% & UeeH & TOiE &1 7F 5 81 9 aomH &

foTe 3= qTHH 1 30T §HT

@) 1.50

(9) 1.25

) 1.20

(8) 2.50

Options :

1L.YA

2. % B

3. % C

4, % D

Question Number : 35 Question Id : 26723611215 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The air standard Diesel cycle comprises of:

(A) Two isochoric processes and two isentropic processes

(B) One isochoric process, one isobaric and two isentropic processes

(C) Two isothermal and two isentropic processes

(D) One isochoric process, one isobaric, one isentropic and one isothermal processes
Options:

1.¥ A

2. % B

3.% C



Question Number : 35 Question Id : 26723611215 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:
1.¥A
2. % B
3.% C

4. % D

Question Number : 36 Question Id : 26723611216 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
For same compression ratio:

(A) thermal efficiency of Otto cycle is greater than that of Diesel cycle
(B) thermal efficiency of Otto cycle is less than that of Diesel cycle
(C) thermal efficiency of Otto cycle is same as that of Diesel cycle

(D) thermal efficiency of Otto cycle may be more or less and cannot be predicted



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 36 Question Id : 26723611216 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. A
2. % B
3. % C

4. % D

Question Number : 37 Question Id : 26723611217 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A centrifugal pump gives maximum efficiency when its blades are

(A) Bent forward
(B) Bend backward
(C) Straight

(D) Wave shaped
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 37 Question Id : 26723611217 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. ¥ B
3.% C

4. % D



Question Number : 38 Question Id : 26723611218 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Rankine cycle comprises of:

(A) Two isobaric processes and two isentropic processes
(B) One isochoric process, one isobaric and two isentropic processes
(C) Two isothermal and two isentropic processes

(D) One isochoric process, one isobaric, one isentropic and one isothermal processes
Options :

1. A

2. % B

3.% C

4. % D

Question Number : 38 Question Id : 26723611218 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1.9 A

3.%C

4. % D

Question Number : 39 Question Id : 26723611219 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Fluids that require a gradually increasing shear stress to maintain a constant strain
rate are known as

(A) Rheopectic fluids

(B) Thixotropic fluids

(C) Pseudoplastic fluids

(D) Newtonian fluids
Options :

1.9 A

2. % B

3. % C

4. % D

Question Number : 39 Question Id : 26723611219 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 40 Question Id : 26723611220 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

If the surface tension of water-air interface is 0.073 N/m, the gauge pressure inside a
rain drop of 2 mm diameter will be:

(A) 0.146 N/m?
(B) 73 N/m?
(C) 146 N/m?

(D) 292 N/m?
Options :
1.¥A

2. # B

3.% C



Question Number : 40 Question Id : 26723611220 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25

qfe 9d-a1 SfREAD B! Falg &1 a9 0.073 N/ m &, at 2 e} g 1
mﬁmaﬂqg$m$rﬂaﬁnﬁm

() 0.146 N/mé
(@) 73 N/m?
() 146 N/m?
() 292 N/m?
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 41 Question Id : 26723611221 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Increase in temperature, in general, results in:

(A) An increase in viscosities of both gases and liquids
(B) A decrease in the viscosities of both liquids and gases
(C) An increase in the viscosity of liquids and a decrease in that of gases

(D) A decrease in the viscosity of liquids and an increase in that of gases



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 41 Question Id : 26723611221 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

o ¥ gfig, 9m=g dR W), afkom:
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(P)
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()

aRa uerdf & xarar # gfe sfik 9t & et
AR gardf &1 aHar & w4t 3R 6 1 9fS
Options :
1.¢ A
2.%B
3. % C
4.% D

Question Number : 42 Question Id : 26723611222 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The standard atmospheric pressure is 762 mm of Hg. At a specific location, the
barometer reads 700 mm of Hg. At this place, what does at absolute pressure of 380
mm of Hg correspond to?

(A) 320 mm of Hg vacuum
(B) 382 mm of Hg vacuum
(C) 62 mm of Hg vacuum

(D) 62 mm of Hg gauge
Options :

1.¥v A

2. % B

3.% C

4. % D

Question Number : 42 Question Id : 26723611222 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 43 Question Id : 26723611223 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
When can a piezometer be not used for pressure measurement in pipes ?

(A) The pressure difference is low

(B) The velocity is high

(C) The fluid in the pipe is a gas

(D) The fluid in the pipe is highly viscous
Options:

1.¥A

2. % B

3. % C

4. % D

Question Number : 43 Question Id : 26723611223 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 44 Question Id : 26723611224 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Differential pressure head measured by mercury oil differential manometer (specific
gravity of oil is 0.9) equivalent to a 600 mm difference of mercury levels will nearly be:

(A) 7.62m of oil
(B) 76.2mofoil
(C) 7.34 mofoil

(D) 8.47mofoil
Options :

1.4 A

2. # B

3.% C



4. % D

Question Number : 44 Question Id : 26723611224 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

ORI ol SR AHIeR (dc 1 ARy o 0.9) §RI A9 9 aren faves

21, UR & &R & 600 fet & 3icR & SRTaR ghm:

(@) 762 mad
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Options:

1.4 A

2. % B

3. % C

4. % D

Question Number : 45 Question Id : 26723611225 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The vertical component of force on a curved surface submerged in a static liquid is
equal to the

(A) Mass of the liquid above the curved surface
(B) Weight of the liquid above the curved surface
(C) Product of pressure at C.G. multiplied by the area of the curved surface

(D) Product of pressure at C.G. multiplied by the projected area of the curved
surface
Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 45 Question Id : 26723611225 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B



3.% C

4. % D

Question Number : 46 Question Id : 26723611226 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Stability of a freely floating object is assured if its centre of

(A) Buoyancy lies below its centre of gravity

(B) Gravity coincides with its centre of buoyancy

(C) Gravity lies below its metacentre

(D) Buoyancy lies below its metacenter
Options:

1.¥A

2. % B

3.% C

4. # D

Question Number : 46 Question Id : 26723611226 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 47 Question Id : 26723611227 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The metacentric height of a passenger ship is kept lower than that of a naval or a

cargo ship because
(A) Apparent weight will increase
(B) Otherwise it will be in neutral equilibrium
(C) It will decrease the frequency of rolling

(D) Otherwise it will sink and be totally immersed
Options :
1.¥v A

2. % B



3.% C

4. %D

Question Number : 47 Question Id : 26723611227 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 48 Question Id : 26723611228 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Streamlines, path lines and streak lines are virtually identical for
(A) Uniform flow
(B) Flow of ideal fluids

(C) Steady flow

(D) Non uniform flow
Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 48 Question Id : 26723611228 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.4 A

2. % B

3. % C

4. % D



Question Number : 49 Question Id : 26723611229 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
If for a flow, a stream function exists and satisfies the Laplace equation, then which

one of the following is the correct statement?
(A) The continuity equation is satisfied and the flow is irrotational
(B) The continuity equation is satisfied and the flow is rotational
(C) The flow is irrotational but does not satisfy the continuity equation

(D) The flow is rotational
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 49 Question Id : 26723611229 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 50 Question Id : 26723611230 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

A two-dimensional flow field has velocities along the x and y directions given by u = x’t
and v = —2xyt respectively, where t is time. The equation of streamlines is:

(A) x%y = constant

(B) xy* = constant

(C) Xy = constant

(D) not possible to determine
Options:

1.¢A

2. % B

3.% C

4. %D

Question Number : 50 Question Id : 26723611230 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 51 Question Id : 26723611231 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

The instrument preferred in the measurement of highly fluctuating velocities in air
flow is:

(A) Pitot-static tube

(B) Propeller type anemometer

(C) Three cup anemometer

(D) Hot wire anemometer
Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 51 Question Id : 26723611231 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 52 Question Id : 26723611232 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The velocity of a water stream is being measured by a L-shaped Pilot tube and the
reading is 20 cm. Then what is the approximate value of velocity?

(A) 19.6m/s
(B) 2.0 m/s
(C) 9.8m/s

(D) 20cm/s
Options :
1.¥A

2. % B

3.% C

4. # D

Question Number : 52 Question Id : 26723611232 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

T Y YRT &1 7 L-HMIehR & UrIaic a1 A1l off g1 § AR e 20
It 8 1 R 4T 1 ST U 1 57

() 19.6m/s
(M) 2.0 mfs
Q)] 9.8 m/s
) 20 cm/s
Options :

1.4 A

2. % B



3.% C

4. % D

Question Number : 53 Question Id : 26723611233 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The Euler's equation of motion is a statement of

(A) Energy balance
(B) Conservation of momentum for an inviscid fluid
(C) Conservation of momentum for an incompressible flow

(D) Conservation of momentum for real fluid
Options:

1.¥A

2. % B

3.% C

4. # D

Question Number : 53 Question Id : 26723611233 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 54 Question Id : 26723611234 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
If a fluid jet discharging from a 50 mm diameter orifice has a 40 mm diameter at its

vena contracta, then its coefficient of contraction will be

(A) 0.32

(B) 0.64

(C) 0.80

(D) 1.56
Options :
1.9 A
2. % B
3. % C

4. % D

Question Number : 54 Question Id : 26723611234 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



TR 50 mm o9 & 3% § e arel Tags ofe 1 370 a1 diedel TR 40

mm SR BIdl 8, 1 38 HepeH &1 U g

(P) 0.32

(Q) 0.64

(') 0.80

(1) 1.56

Options :

1.¥ A

2. % B

3. % C

4, % D

Question Number : 55 Question Id : 26723611235 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Flow separation is caused by:

(A) Reduction of pressure to local vapour pressure

(B) A negative pressure gradient

(C) A positive pressure gradient

(D) Thinning of boundary layer thickness to zero.
Options :

1.¥ A

2. % B

3.% C



4. % D

Question Number : 55 Question Id : 26723611235 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3. % C
4. % D

Question Number : 56 Question Id : 26723611236 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In a flow through pipe, the transition from laminar to turbulent flow does not depend

on
(A) Velocity of the fluid
(B) Density of the fluid

(C) Diameter of the pipe

(D) Length of the pipe
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 56 Question Id : 26723611236 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A

2. % B



3.% C

4. % D

Question Number : 57 Question Id : 26723611237 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
For laminar flow through a long pipe, the pressure drop per unit length increases

(A) In linear proportion to the cross-sectional area

(B) In proportion to the diameter of the pipe

(C) Ininverse proportion to the cross-sectional area

(D) In inverse proportion to the square of cross-sectional area
Options:

1. A

2. % B

3.% C

4. # D

Question Number : 57 Question Id : 26723611237 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 58 Question Id : 26723611238 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

A Francis turbine working at 400 rpm has a unit speed of 40 rpm and develops 500 kW
of power. What is the effective head under which this turbine operates?

(A) 62.5m
(B) 64.0m
(C) 400m

(D) 100m
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 58 Question Id : 26723611238 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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(P) 62.5m

@) 64.0 m

(0 40.0 m

() 100 m
Options:

1.9 A

2. % B

3.% C

4. % D

Question Number : 59 Question Id : 26723611239 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Two Pelton wheels A and B have the same specific speed and are working under the
same head. Wheel A produces 400 kW at 1000 rpm. If B produces 100 kW, then its
rpm is

(A) 4000
(B) 2000
(C) 1500

(D) 1250
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 59 Question Id : 26723611239 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A



3.%C

4. % D

Question Number : 60 Question Id : 26723611240 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following water turbines does not require a draft tube?

(A) Propeller turbine

(B) Pelton turbine

(C) Kaplan turbine

(D) Francis turbine
Options :

1. A

2. % B

3.%C

4. % D

Question Number : 60 Question Id : 26723611240 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3. % C

4. % D
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